5 peroroRs BODMAS

Name - Starttime-_ _:__ End time-_ _:

Solve the following questions :

1. Circle the number that is missing from this calculation :
120x9 =3 x
A. 40 B. 60 C. 240 D. 360 E. 720

2. Whatis2x15+(2+3)x77?

3. Whatis7+12+(9-7)+47?

360
40 X 1.5

4. Whatis ?

5. 42 x603 +58 x603 =
A.1206 B. 34974 C. 60300
D. 25 326 E. 54270

6. Whatis6+42+(16-13)?

7. Whatis1450x 1.7 +1450x 8.3 +1107?

8. Write down the answer to each calculation.

a) 7+4x6-3=

b) 6+8+2-1=

c) 7+6-5x2=

d 9x5+6x3=

\ 2 3 0 6 38 9
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